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~ 156 ~CItT ~.-m~lIlRf : 3:00 lfOtJ
Time for marking all 150Questions: 3:00 Hours]

GPNN-OlBi14

Set-A
W

~ ~ 1Illf~ ",R
1. ~~~ftIl!lI~ 1-30 30
2. gll~I"II~ 31-60 30
3. WlRaliA& 61-90 3Q
4. 91-120 30
5. UII'A"'f11 121-150 30

~ 150 150
2. ~~--q;rif~150m,~1 ~150acJit~~~1 ak<tiTtn~1ft~~tlcfiW~~~

tl
3. ~-~"t ~ (!?II. CIit~ <tiTfirnR ~ ~ 'tf{~ 'IT(~aif ~ <tR 'tit I ~er 1t ~-~ if ~ ~

~/'U'T~fit;om~111nt, "t~~t~~~ ~cit~t~~lA1t~t ~CIit~ ~.~
~ <till

4. ~-~ if fcIil:ft '!lifi'R 11ft'!fl~ ~ 'tf{~ 'll?l1i15 ~ if ~ ~ ~-~ ~ ~ 1

5. ~--q;r're~~~~-~cfi"~~'tf{~~1!i)'411\4cn~~~~~"qJ'ffi~lm .•
~"1Ifaft.~.-. ~1Iteleciil;ft\_~.m1fit.31ftfiw~1

6. ~ 1ft'll<tiRcfi"ot(ij<fieC!(, ~ -qiR ~ fcIil:ft 1ft'll<tiR"tOR ~1'f!tCfi ~~. ~ ~ ~ <tiT~ ~ ~
tl

NOTE
1. This paper description and division of Questions as follows :

S.No. SubJect QuestIon No. Total Marks

1. Botany H30 30
2. Zoology 31-60 30
3. General English 61-90 30
4. Physics 91-120 30
5. ChemIstry 121-150 30

Total 150 150

2. This question boQIdet contains 150 questions numbered from 1 to 150 and each question carries 1 mark. All
questions are compulsOry. There Is no negative marking. .

3. Ta/ly the number of pages along with no. of questions printed on cover page of the booklet. Also check that
question booklet contains the questions of all relevant subJectsltopfcs, as required and stated above and no
repetition or omls$ion of questions Is evident. .

4. If any discrepancy Is found in the Question Booklet. the same can be replaced with another correct Question
Booklet within first 15minutes.

5. Before answering· the questions please read carefully the instructions printed on the back cover page of the
question booklet and strictly follow them. Indicate your •••••••.• by blacking circles carefully only on the
O.M.H. Answer Sheet provided.

6. Use of any type of calculator. mobile phone or any other electronic equipment and log table etc. Is strictly
i' gl'Qhlblted.
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1., f.f,"1f{1f9d ..q ~ ~ ~ -ml Wif<.1d~ t ?
(A) ~. - ~tlcj~lq) ~

(13) Cf)'I~tq)t ~ - qt<4tRldt

~9)~~-~
([)) ~~'1ft1q,1~ Cf)1~tq)i4t - 4(fjt~ctil(fjt~f-E'tfl

Which pf the following pairs is not correctly matched?
.(~) Nucleus - Genetic information
(B) Cell, membrane -:-permfability
ee) Golgi complex - Secret on
(D) Microtubular organelles - Glycolysis

I
I

2. PNA:<m~ ~ oit'~ ~ ~ -q 'qrrTM t) Cfi~(iMI t ,t

(A) ~' I

(B) ~
(C) ~
CO) ~~q,lf~' :
~mallest part of DNA which rkeS part in croasing-overisoaHed=
(A) Gene '

~~) Allele
(C) Recon
(D) None of these
1- '

I
J

3. ~~~lmt:
;J'-" "

(A) .;"'1'4~.~~t
(8) ~ ~ "efil C!fUif ~ -q QReH:f'1 tR ~
(C) 'ef'Iif ~ CfiT 1fut ~ -q QReH:f'1 ~ ~
(D) li'1;sfiQl'1 fsh~lltftt1dt ~ lA ~
Wbengreentomatoes turn red?
(A) New chloroplast are made
(8) Chloroplast are converted into chromoplast
(P) Chromoplasts are converted into chloroplast
(9) ~e$LJrre9tion activity. initiates
".f!.

.. ,,,.
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4. 'Cfj'Cfq; ~ <ffliil«tii ~ ma f :
(A) c;ffif}(ICflIfcrqtf;r ~
(8) c;ffif}(ICflIfq~ffiCfl<OI ~

(C) ci1I1lICflINfu f.fqfur ~ ~ ~ ~ ~ ~ fcR:Rur ~ ~ mrtt ~ ~ ~ ~ ~
(0) ~~
Lomasomes of Fungi are involved in :
(A) Cell elongation
(8) Cell elaboration
(C) .Increasing surface area for diffusion of substances involved in cell wall formation

or break
(0) All of these

5. ~ :81(<-16101ctt ~q;ll(n4·~~mmt:

(A) ~~
(8) eu~<-1Cf1Y~'5.q

(C) iil~ilc;ffif0441 ~
(0) ~.q
Light phase of photosynthesis takes place inside the:
(A) Stroma
(8) Thylacoid

(C) Mitochondria

(0) Mesophyll

6. ~'If}(ICflI qr~GCflI~ ~ ii~=tq'{uf ~ f.NR 'Cfl'ffi ~'If}(ICflitl t :
(A) ~a.+f~
(8) 3Rr:~ \jllft1Cf1I

(C) <I~~j«tq

(0) ~~
The organelles that play an important role in the formafion of cell plate are:
(A) Microtubules
(8) Endoplasmic reticulum

(C) Ribosomes

(0) Golgi complexes
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7.~q,II(H:jI(t96fl~~~1~F'lI'1I~{UI~tq ~ .• 4lf("fq;'1 "$atC'.1CflIf'tICfiI-q~"$ F'l1'1IOij(OI.q~
~ ~ ~ -e- ~fA4fl"1dt ? '. .
(A) ~fiI~l~f"'1
(8) ~~fctet;{H
(C) ~,(~IiRt'1
(0) ifi~CfiI$Fl~
Which of the component of photosynthetic electron transport is directly involved in the
transport of protons from stroma to '",men of thyfakoid l'
(A) Plastocyanin
(8) Plastoquinone
(C) Ferredoxin
(0) 'Pheophylin

8. .GjJ$i~J}'1'cfi' ~ ~qGjId !1uJ'l{;O-q 31J'Cm'-q ~ ~ Cfit CflIT ~ f ?.
(A) ~~Gjq; GR'J
(8) 'l{'ISiQ'1 ~
(C) 31J~Gj'1 ~
(0) ~riGR'J
Which of the following forces develop between the homologous chromosomes during
zygotene?
(A) Cohesion force
(8) Synaptic force
(C) Adhesion force
(0) All of ~fbrces

9. ~ ~ !1QI'l{;Ocfi' ~ ~ i5IR cm-It~ fuR imt ~ Cfie{Ymft t :
(A) 3l~~

(8) ~~
(C) (,('IS'Q'1 ~
(0) ~'tmir·, ,,'
A tripartite ribbonlike structure present betW'eenpairing homologous chromosomes
is called:
(A) Axial filaments
(8) Lateral filaments
(C) Synaptomal complex
(0) Central elements



1~1~.ICfiI cfi" DNA ~ 3l~~-I qica2 ~·:qllT1:fT\lfIOftl «'1-f CJ)"'@lqillffl DNA ~ :
(A) ~G2q,l~ICfiI qi ~
(8) G

2
Cf1"'I~ICfiI~ ~ .

(e) G2 ctiI~ICfiI 'Cfil~

(D) G2 Cf1"'I~ICfiI'Cfil~-~

The DNA content of a cell is measured in the G2 phase after Meiosis-I. The DNA
content of one of the cells. produced is : .
(A) Equal to that of the G:fcell
(8) Twice that of the G2 cell
(e) Half that of the G2 cell
(D) One-fourth that of the G2 cell

11. ql~(I~;S ~~f1A~t:
(A) ~ RNA 3lUj

(8) ~ DNA 3lUj
(e) ~. ~ C\ift-;frl:r) .q ~ ~ DNA

(D) ~~(~).q~~RNA
Viroids differ from viruses in being:
. (A) Naked RNA molecules
(8) Naked DNA molecules
(e) Naked DNA packaged with viral genome
(D) Satellite RNA packaged with viral genome

12. ~ qi m?f m~~3R ~ 'tf{ ~ ~ wWT~, ~ ~qRun+ii .~. ~ Sff6ql~(L~ q;{
'tfTQ;, ern- ~ tIT : .

(A) ~
(8) ~ .
(e) ~P21(f$"'Iq

(D) QI$?ffiqq

In addition to pea, Mendel had carried out hybridization experiments in another plant
also, where he could not establish the findings he had previously obtained-on pea,
that plant is :
(A) 8ean
(8) Maize
(e) Antirrhinum
(D) Hieracium



13. ~ ijcfidq; ~ t :
(A) ~ ~ 4'i1f?iIq;laiimu dNl~d ~ ~ d4ffl!ld

(8) mRNA ~ Ch13"Rf:~ GJIR1q;1'cfi"ttiFsq;1 ~ -q Haf?ild q;ffl f
(C) (1$af\~'1lfiT ~ dq$q;I{ ~ ~ 'tR'

(D) ~~~~20~31m-'4m'cfi"~~
A signal peptide:
(A) is most likely to be found on proteins produced by bacterial cells
(8) directs an mANA molecule into internal space of the ER

(C) is a sign to help to bind the small ribosomal unit at the initiation codon
(D) would be the first 20 or so amino acids of a protein destined

14. Httl'1q; ';sft;r ~ t, ;;fr fit; :

(A) cr:A~~.~f
(8) ~ Oflclf&d ~ i-
(C) ~ mt ~ H4f~d ~ f,~d4ffl!ld ~"im
(D) -qri
,- --. ."'

Regulatory~n" are Jhose genes that:
(A) Code for repressor proteins "
(8) Are transcribed continuously
(C) Are not contained in the operon they control
(D) All of these

15. ~+i:tclbtOf;,*>~tRNA <6" SlRtCh)«I::t ~ _ t :
(A) t RNA ~ dqf~6 ~

(8) mRNA ~ dqfftf6 ~

(C) (l~afl~'1.~

(D)" tRNA'lR dq~d ~

During proteirfSynthesis th$anticodon of tRNA"pairs With:
(A) Codon on tRNA
(8) Codon on mANA
(C) Ribosome unit
(D) Codon on tANA

GPNN~lB114-page*11
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16. ~ QOtti"i.1 q;r ~ t :
(A) 2n- 1 - 1 - 1
(8) 2n+ 3
(C) 2n+ 1 + 1 + 1
(D) 2n-3
The formula for triple monosomic is :
(A) 2n- 1 - 1 - 1
(8) 2n+3
(C) 2n+ 1 + 1 + 1
(D) 2n-3

17. !t0i~,fj.q;;iR ~ ctIT 9:l04q~i ~ >rctm: ~ tfcn ~ !t0i~;fi.q Sf;11 ~ ~~ ~ qRqma 'if
~, Cfit!t1@t :
(A) !IIRwil "I 1
(8) ~i1iOij<Oi
(C) fc1t11q1
(D) fctf1"14

Rearrangement of a group of genes within the chromosome in such a waythat their
order in the chromosome is same but the position is different is referred to as :
(A) Inversion
(8) Translocation
(C) Deletion
(D) Interchange

18. ~ ~ !IIi~~4 c71iSjoft4~ f-sm fcf;~ ~ ~e..,.(Cfi ctIT oflq~4Cfi<ti~lRft', Cfieffl<tit:
(A) 1'l15'Ol "SRC\tJ
(8) 1i"l!ll~q/"l('1!11~q

(C) ~
(D) ~/fI~~t16jl
A nutritionally wild type organism that does not req~ireany additional growth
supplement is known as : '.",. , .
(A) Phenotype
(8) Holotype
(C) Autotroph
(D) Prototroph
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i i 19. ~;:Bq;ij t<R.7qij(~ n We) t: .
(A) 21 !!OI'E1.'" ~ ~ f5j!Ifbld
(8) 42 !£U1'E1.'1i~ ~ 6j~ld
. (C) 30 !!OI'E1.'1i ~ ~ :qg;1fOld
(0) 14 !!OI'E1.'" ~ ~ m!Ifbld
Triticum aestiyum (the common bread wheat) is :
(A) Triploid with 21 chromosomes
(8) Hexaploid with 42 chromosomes
(C) Tetraploid with 30 chromosomes
(0) Diploid with 14chromosomes

20. ~ f.rllm.Q{G4A!tfUm~~. t :
(A) ~tfi;flifftC61
(8) ~27iM
(C) ~
(0) ~~~~
Man made. aUopglyploid cereal crop is :
(A) Raphanobrt:fS$ica
(8) Triticale
(C) Pomato
(0) None of these

21. aNRcHl."R ~ m<T fct;lrr ~ dNRCld1 CfitR''Ildlt :
(A) l<m: dNRCld1

(~) <jijjqACfi •dNRCld1

(C) ~ dNRCld1

(9) !toj*l,ftqa~~Cld1
~utatiOnscauS&d by mutagenic agtntstermijc:J' :
(A) Spontaneous mutations
(8) Chemical mutations
(C) Induced mutations
(D) Chromosomal mutations
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22. ~~~.~,ft;i1t~."'flITt,·~t:
(A) ~
(8) ~i1C117';fI

(C) 4M~74Zf
(D) CI1rcm1Pt47

.JIJefirs! plantjnwhich chromosomAlQasisof,sex determinatlon was discovered is:
(A) Ramex
(8) Sphaerocarpus
(C) Melandrium (Lychnis)
(D) Coccinia

23. f.il:;:r .q ~ ~ ~ t :
(A) l("",I~4i
(8) '{fup.w11 l(-'Slo:t{«'121;jj

(C) '{r~CMI1l(~o:t{cR121;jj

(D) '{r~I1-tt.'Q;f.~.

;ij: QIl.e of the following is known as 'bioloQicalscissors' :
'(A)EnzYrn~s' "
(8) Restriction endonucleases
(C) Restriction exonucleases
(D) Restriction DNAse

24. ~ ~.q RNAseq;) ~ ~~tt?lcfRre~ct" bRT amtT f~;~r\;nmt~ RNA "-T?l q;)f.il:;:r ~
'tR: {tII11"(Ifut ~ '\lITOTt :
(A) 61~~~~0Gj1~(1~qfft~~
(8) ;S1~~~;;;ft1
(C) ;s1~~il411
(D) ~~~~
In northernblotting RNAse are separated by g~ITelectrophoresisand the RN~ bands
are transferred on to a membrane of : . , ,
(A) Diazobenzyl oxymethyl
(8) Diazobenzene.
(C) Diazobromine
(D) None of these



25. f.iq 'ij ~ ~ dq;;ftq; CfiT ~~~ ~ ..'tR ~ ~.q 1Rnt ?
(~) ij\ij,tflqtU ~ Shlil~wi11
(8) ~ 'tJUf. Sf))iliHUCf)l
(C) aw:R ~-~·Sf))ilitw~.,
(D) ~ foi&:4G"i Sf))ilitwCf)l

Which of the following techniques is used to determine molecular weight of proteins ?
(A) Affinity chromatography
(8) Thin layer chromatography
(C) Ion exohange chromatography·
(D) Gel filtration chromatography

26. DNAe:t~ttoJ q;l. f.p:;r 'ij ~ C1Wm ~-~ ~ ijli'4:t1'" ~. ~ fiI;trr ~ lflImT t ?
. (A) ~
(8) ~
(C) tql~fiim1
(D) fta1TCfEft(I~iIft\i~
DNA synthesis can be specifically estimated by measuring the incorporation of radio
labelled:
(A) Adenine
(8) Uracil
(C) Thymidine
(D) Deoxyribose sugar

27. lil~qiJC(1IGqI'ij ~ ~ '\iIRIT t :
(A) qiJf1,q;1 ~

(8) qiJf1,q;1M
(C) 'it.~.~.
(0) q,lNIq;I·l&l

Mycopfasm~do. not CQJlt~in.:
(A) Cell membrane
(8) Cell wall
(C) DNA
(0) Cytoplasm
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(A) ~ mq;yaqjq:q41~ w:n ~ t
(B) ~ DNA ~ RNA w:n~t
(C) fqCfitNl q<Gflefl ~ f
(D) ~ fu1IfqCfi 6.RT ~ \i(ffi f
Viruses:

(A) Possess their own metabolic system
(B) Contain either DNA or RNA

(C) Are facultative parasites

(D) Are readily killed by antibiotics

28. ~:

29. ~~ qftm R""1Fctf&d MiA ctt GAtm t :
(A) H1, H2a, H2b, H3

(B) H1, H2a, H2b, H4

(C) H1, H2a, H2b, H3, H4

(D) H2a,H2b,H3, H4
The core of nucleosome is made up of the following histones :

(A) H11H2a, H2b, H3

(B) H1, H2a, H2b, H4

(C) H1, H2a, H2b, H3, H4

(D) H2a, H2b, H3, H4

30. lfur ~ tt.'Q;f.-q:.0tTT~ tt.'Q;f.~.~ CflIT a:RR t ?
(A) W~ ~W.fi ~ tt.'Q;f.~.
(B) lfur ~ tt.'Q;f.~. ~ anU ctt ~
(C) miR iriR ctt ~lqf~~
(D) ~~
What is the difference between DNA of chloroplast and nuclear DNA ?<
(A) Single strand D~A in chloroplast

(B) Less number of bases in chloroplast DNA

(C) Absence of histone proteins

(D) All of these

,.
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31. 'E1RChlfl:tlf{fc:t;;r ~ cfi" 1'ft:q CfiT trPTt ?
(A) H-qf{ettT
(8) Z-~
(C) A-~
(0) I-~
Sarcomere is the area between two :
(A) H-bands
(8) Z-bands
(C) A-bands
(0) I-bands

32. r~",,~Rsid.q-« ~ qft ~ t:
(A) q<I~c!{1

(8) ~
(C) ~
(0) lR·qT~:s
Which is theskUltbone among thefOlbwingt,?
(A) Parietal
(8) Femur
(C) Tibia
(0) Pteragoid

33. 'l'l'lyq:s~ :
(A) lIDrawft.~'R ~ -mar t
(8) mcflcMfitCfi1mt .
(C) ~~ Chl~ICfiI.q ~ fil;;qraff CfiT Q;q,I"6<U'W~fifit4r 16'<W f
(0) 1(:i\1{1 q;)~Iq;laff -« ~q;~d f
Steroid hormones:
(A) Have receptor only their.surface
(8) Lipophobic
(C) Action on target celJby cleavingproteih r&actions
(0) Is secreted from adrenalcens

A-Set
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34. lfil~{Y'1 ~mt:
(A) ~ q;)~ICfiI~

(8) ~ q;)~ICfiI~

(C) atTq;alf~ q;)~ICfiI~

(0). ~~~
Testosterone,secreted from:
(A) Sertoli cell
(8) Leydig cell
(C) Oxyntic cell
(0) Pituitary gland

l :

35. ~q'1l<iJI{ 'tR ~ ('13ifCh<.J1.q~ 'CfiT'fctCfim rcfi~q,1 «I~{UI t ?
(A) Cfi(4(0ij{OI

(B) ~~
(C) ~~
(0) ~ ~~ 'Cfft ocqftf
Younggii1s at puberty begins to develop bre~st~',t'hi~I$$nexampleof: '
(A) Metamorphosis
(B) Sexual growth
(C) Artificial selection
(0) Appearance of primitive characters ' '

"

36. ~.q~' ~re~~~&t :
(A) at0OSlltllj.q trlfl !Il1~fg{y'1 'CfiT'~"Cfi«IT t
(8) ~.q trlfl ~ Cfft ~ 'CfiTmoPTt
(C) m .q trlfl ~ eCfi:q"1~ "Cfi«ITt
(0) .,!f~l*fi.q,~zyn~ ~ ctll~ t

",' " .~-. . "

Corpus luteum in mammals occurs in :
(A) Ovaries and produces progesterone
(B) Skin and acts as a pain receptor
(C) Heart and iriitiatearterial contraction

, (0) Brain.andconnects two cerebral hemispheres

, '
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37. ~~'iFRlTt ? • ,~

(A) q;Cfi!l;s4
(B) 4hil;s4
(C) 4l:m({oil;sq
(0) ({oil;s4
Gonads are derived from:
(A) Ectoderm
(B) Mesoderm
(C) Mesoendoderm
(0) Endoderm

38. "G(fof ~r86I~~ '\ifRitt : + .~

(A) ~<fflN<t"1·~ .q
·(6) ~.q
(C) iIf1fon ~ .q

. . (0) otO~5Iitl<t.q
Atretic follicles are found inJhe .

. . ,., .,.I'

(A) Fallopian tubes
(a) Uterus
(C) Labia majora
(0) Ovary

. ..

39. ~ ~~?fft ~ Cfil ~ • fcmim?fft\i~Rte ••uft ~cm t :
(A) \il"1~if8tcfil
(B) iucilulc6l
(C) 4\M'lUiCfl1
,(0) qofl,f-a ~
Study of trends In human population growth and prediction of future ~veJopment is .
called:
(A) Demography
(B) Biography
(C) Kalography
(D) Psychobiology



40. ~. qft \iI·H:1&4\ OijCfi(OI qmft t :
(A) Z ~ \il1'E1(§l1\ ~ 'CfiT

(B) J ~ \il1'E1(§l11 ~ 'CfiT

(C) S ~ \il1'E1(§l11 ~ 'CfiT

(0) ~~'CfiT

Human population follows:
(A) Z-shaped population growth
(B) J-shaped population growth
(C) S-shaped population growth
(0) All of these

41. 'T{Cn ~ cfi'![ol~:iJl 'CfiTm C6tR1ldlt :
(A) f~o;ftq

(B) Sf,lilR:1
(C) ~R<fIll~q

(0) ~ftk
A picture of a person's chromosomes is called a :
(A) Syndrome
(B) Chromatin
(C) Karyotype
(0) Fingerprint

42. ~~cfi' ~ -ij DNA '$6~~ ~ miA·~t :
(A) H4
(B) H1
(C) H3
(0) H2A
The Histone protein that attaches to DNA strands between nucleosomesis :
(A) H4
(B) H1
(C) H3
(0) H2A



43. 'QJm-~ (X-rays) -;ro3('qRq<f:t CfiT"SNlCf31q~~d f~;lIPT~r\!
(A) ~~
(e) ~~
(e) ~-;ro
(0) ~~
Effects of mutation by X-rays was observed by, :
(A) Morgan
(8) Luria
(e) Muller
(0) Watson

44. ~f"141~.ef('ie-q ~ c61i1l@,aifCfiT~$r'.~ ~8.t1Jr -efi'.-;ro ~ Wit CfiT'qffl~ -efi'~ fCfieq;,
~~~t?
(A) l0'I,~q~
(8) ~R<412,_q
(9) ~.~.~. Il1ItM!l(OI

(0) ~ri
Through amniocentesis foetal cells can be cultured And te~t'dfor detecting various
diseases of foetus by :
(A) Enzyme production
(B) Karyotype
(e) DNA Analysis
(P) All of these

45. _l«I'~m~X-~~31T~4\qqft~-mrci~iR~ .• t,¥8t'lldit:

(A) WPTf.NkoJ CfiT~ l«I'

(9) 1Wr f.t'li{U, CfiT~ .l«f
(C) m ~ CfiTq'd,q{Oll«l'

(0) ~~CfiT~'~l«I'

the theory where ratio between number of '<-:9tlroQlosome~ and nUmQer.()f qomplete
sets of autosomes will determine: .• .' " .. ,
(A) Chromosome Theory of Sex Determination
(8) Genetic Balance Theory of Sex Determination
(~) Environmental Sex Determination Theory
(0) Hormonal Balance Theory of Sex Determination

A;.Sit ·GPNN-G111l4,--p~25 'G-21,



46. -;sft;ft~;;sftf.p'4'lJqit q;m \lfRU t:
(A) ~~-~
(8) ~~
(C) !li\c!tC(1lg dCfio:ftCfll

(D) 9>•• 4ttl\i1Gl.~.~. dCf);f\Cfll

Genetic Engineering is also knowrias :
(A) Gene manipulation
(8) Somatic hybridization
(C) Protoplast technique
(0) Recombinant DNA technology

47. ~cfi"~'irmt:
(A) qilt=\~y{'1-m .q ~
(8) ~ ~ aqlf~~ .q cfir~<iq qft 1tPI1.q~
(C) ~ ~ aqlf~~.q ~fWt4q qft 1tPI1.q~
(D) m~.q~
It is occurred during ageing:
(A) Decrease level of cholesterol
(8) Decrease level of calcium in arteries and cartilages
(C) Increase level of calcium in arteries and cartilages
(D) Decrease blood urea

. 48, ~·"lqiCf)(OI ~ t :
(A) em (Jf '\i1ffif

(8) T£UT q 'tIftcm:
(C) '\i1ffif q iN\i1IM

(D) emq 'tIftcm:
Binomial nomenclature designates:
(A) Genus and species
(8) Order and Family
(C) Species and subspecies
(0) Genus and Family

GPN.N-OIB/l4--p~26



49. q4ffCfi{OI qft q:q\5j41d ~ q;y SCfd41G"i ~.~ :

(A) ~A(H"I ~

(8) ffl~lCfi{~
(C) ~~
(D) ~~
Five kingdom scheme of classification wasJ*>pOsed;by:~r.' ,
(A) Llnnaeus
(8) Whittaker,)~i:<:
(C) Hymen
(D) Mayer

SO. f.:r1::f .q ~ 31if 5 qnom~ -qeft t ?
(A) "ftG~~
(8) cfi~q;)f;f41 ~
(C) v;tft~
(D) cftij)qU

Which is the largest bird ever known?
-(A) Greatlndian Bustard
(8) California Condor
(C) Aepyornis
(D) Casso~ary

51. R,..,~f&6~.q~~~~~~t.?,
(A) ct\$f'1C4"1
(8) Sf)lM4"1

(C) 3i4lf"iC41
(D) ~
Of the following elements, which one is a ~~ ':l,
(A) Cadmium
(8) Chromium
(C) Ammonia
(D) Carbon

, .. ,.,'" '••.. :. ,,; > -, """.,.",.,."., ••• ;...:'_~';".,._. ,<,' :,':'.,.i. ' -;,_,. :."'_ ~">A'~i.'",,: -.,i.$. ,"".0' " ;._ ,_ ._
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52. ~ mfUrff q;y"T{ecft ~ fcm'ur Cfi~('1lctlt :
(A) \ii1q,~'1~
(B) qlR~reCfll
(e) '{"tCfl1

(D)~
Distribution of living organiSms Ort tl'wtearth i$Oan~ff~(';,;\C
(A) Palaeontology

(B) I=cology
(e) Embryology

(D) Biogeography

{;~

·~~~~t?
r:

53.
(A) ~cR1R4'1
(6) a1Q\'1C11
eC) ~itQ\t'1C11
(0) ~

AIDS is caused by :

(A) Bacterium

(8) TMV

(C) HTLV

(D) Virus

~~~~~.~~~.?
., rl~:~54-

(A) ~

(B) 'CfiR'ft~

(e) fWm



55. ~~~,~~mGffil.qmtRftt?
(A) ~)~\ij"'~
(8) ~.
(C) (14\qslqllt;ft
(D) tClif.tf<H ~

Mammalian IJpne IS'differ~m: ,f,,,omcflltjfagein :
(A) Colt~el'l fibres . ' '. I

~ •• < ' • .'. '.' ' .' - '.

(II} Blooq "Isseis
(C) Lymph ~$sels

. . , . ,

(O) ffave!J(an canals

56. Q:P<6cqy~\ijCItf,~ ~ mt?
(A) ~!!~~~.

(~) .~i~'

(0) f~am(tIR{l
(0.> laf1ft1:UPhM .
Antibodies ar,'(Qrmed in :
(A) Phuelets
(8)' RBC

(~) Lymphqcyt!s
(0) EoSinophils

. 57. ~~'.~JI6~~tfft~~~1fRftt?
tA) '($!lIt{
I. .

(8) Jfttn¥4
(0) ~q lf4l~14
([.),) t(b11~ij

The ner18 ci\J$ .develop from WhJeh emB~,iC layew"
(~) Ectod_rrtt <, ;~';;.. ..,',

(8) MesOd$hn
CC) Ectoderm and Mesoderm
',,- ,~

.(t>:) Endoderm'~~.
'/
t



58. ~ CfiT~~ ~ r.ti~(fmtl t :
(A) q. ffCfi«01

(8) Cfll\1(ICfiI~

(C) 31Yf*,JOfItflTGll

(0) f~R1{1M1 (~)

The microscopic study of tissue is CCliIed:
(A) Classification
(8) Cytology
(C) Osteology
(0) Histology

59. ~ q1- ~ ;;p:R q1-WrQ: ~ fCfllfli1 Cfft 31lqitllCfidl ~·t ?
(A) fctllf.:t9i A
(8) fCfllfq9i C
(C) fCfllf.:t9i K

(0) fCfalf.:t9i E

Which vitamin is essential for blood clotting?
(A) Vitamin A ',/

(8) Vitamin C
(C) Vitamin K
(0) Vitamin E

60. Cfi~(iCfl1 mfUr.Ti ~ ~ ~ GRffi ~ ?
(A) Q\qiJ~4
(8) 4l~~4
(C) Q\qiJ~4'Cf ltuil~4
(0) Q\qiJ~4,4l«l~4 cr tJ:oit~4
Glands in a vertebrate body originate from;
,(A) Ectoderm
(8) Mesoderm
(C) Ectoderm and Endoderm
(0) Ectoderm, Mesoderm and Endoderm

-, .'> .., .. -
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61. Which of the following is the corNet inditect1ormofspeeph 1,
. I said to him, "How wonderful is the morning today!"
(A)' Itold him how wonderful is the morning today.
(8) He,told me hoWwonderful is the morning today.

. .
(C)· He exclaimed with joy that it was a very wonderful morning thatday.
(0) He asked to me that how wonderful is the morning today.

~-4#. ~
I· .

62. W~lchof the following words Carries the sense of 'Loyal' ?
'.(~) Lover
. (8) Cruel
(C) Ol'teat' ~
"(D.) Faithful

63. Which of the following words bears the sense of 'Diverse' ?
(A) Much . '.
(B) Brilliant
(C) Oisjoint,d
(O) VariOUS

64.' Which of 'the following words means 'Courteous' ?'
(A) Affected
(B) . Artificial

. (0) Affable
(P) Numerous

65. Which of the following words carries the Sense0' 'CopfouS'?
(A) Beautiful
(B) Plentiful
{C) Wretched .
(0) ,.Csp'ricious .

\

~J



66. Which of the following words meang;!,llI-marmered' ?
(A) III.;clad

(8) III-tempered

(C) Intelligent

(0) Churlish

67. Which of the following words is the 'Antonym' of 'III-mannered'?

(A) Suave

(8) Sweet

(C) Sour

(0) Rich

'isS. Which of the folloW,ng\vords is the near synonym of''''Primitive' ?

(A) Ancient

(8) Antiquated

(C) Arch

(0) Aimed

69. Which of the following words is the antonym of'MurkY'?

(A) Mortal

(8) Mutual

(C) Effulgent

(0) Shallow

70. Which of the following words has to do with 'steafjog' ?
/--'." , ..- ...., ,- ;/,

(A) Hilarity

(8) Hike

(C) Hijack

(0) Hit

GPNN-01B/14-pag~
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71. Which of ~lollp~~~ordSi~n$ •.~eat~' ? ..f
;~

(A) Thrilling

<8) Histrionic

(C) Delicate

(D) Delicious

(In,''.!

72. Whichof the following statements bringsout the true meaning of the maxim: "Ifwinter
comes, can $.POOg be far behind" ?

:'i\ .: ',:;, "-, _','

(A) Man musn::arefor his future.

(8) Everything it:lthe world is transient.

(G) Nobody is here forever. .

(D) After a period of difficlJlties,a period of ease and ~f()l'!shallcome; that is the
law of Nature.

73. Which of the following statements brings out the true import of the maxim : "Look
before you leap" ?

(A) Man should not be over-active.

(8) One must be full ofworShip.

(C) One must be carefree. •
(D) One must not do anything without weighing the consequences of the act.

74. Which of the statements, given below, brings out the true meaning of the maxim: "As
you sow, so shan you reap" ?

(A) We must never be frightened.

(8) Our deeds will determine our future.

(C)
(0)

Our goal should be lofty.

There is no point in going back on our promises.

t



75. Which of the following statements contains'the truemeaningofttle maxim: .

"Every Caesar has a fall" ?

(A) Democracy is the best system of Govemance.

(B) We must worship Caesars.

(C) Dictators cannot rule forever.

(D) Powerful men are very nice.

76. Which of the following sentences bears the trLl~ meaning of: "All art is moral, none

deliberately so" ?

(A) Art should not be moral.

(B) Art must ba,entertaining.

(C) Art is above morality.

(0) Though all works of art profess to be amoral, they all, at the bottom, are moral.

77. Which of the following words is an Abstract Noun?

(A) Clear

(B) Clarity

(C) Clearly

(0) Carelessly

78. Which of the following words is a Conjunction?

(A) Booty

(B) Blood

(C) But

(0) Bee

A--Set
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79;, Which of tn.~ollowi,,~~si$:an ~~tiv:etl:.
(A) Coward

(8) Fool

(e) Kingly i\.~
(D) Celebrity

80. Which of the following words is aTtarlsitiv:e!V~rK?

. (A) Kill

(8) Fly

(C) Die

(D) Run

82. Which of the following seot~~ ~f ••gr,f~."9(1l error '1

(A) She knows to cook.

(8) She knows how to cook.

(C) She doesn't mind to cook.

(D) She is able to breaking the door.

t



83~ Which of the following sentences isCOrreet jn'all respects?

(A) He told me that he would not come to school that day.

(8) Iam sorry you are not an unique speaker.

(C) Hori is an immortal creation of Munshi Prem Chand.

(0) Them's them.

84. Which of the following sentences is incorrect?

(A) You and I can do this task satisfactorily.

(8) She has come. lately today.

(C) They do not care a twopence for us.

(0) The teacher is not to blame in this matter.

85. Yesterday Imet ............•....... European at the station.

Choose correct article to fill in the blank in the above sentence.

(A) an

(8) the

(C) a

(0) zero article

86. Which of the following words is not a Collective Noun ?

(A) army

(8) jury

(C) crow

(0) factory

GPNN-otBI14-page-40
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\. WhichoI~ fo~ i!Ji1lle. . .. . .. .. of~ $eilfe!jCa'i

'\ The teache~id; "~g'm'lf0fflOrrow,.1y~redMyC)ur test."
(A) The tea~ asked to the students please come tomorrow for your test.
(B) The teacher CQmmandedthe students in respect of their test.

t;r--;:~"1\";:"
(e) The teacher aSKedlthe pupils to come the next day fully prepared for their test.
(0) The teacher advised the students please come tomorrow for your test.

88. Which of the following sentences is the correct form of the Indirectf()rm of speEWP?
He said, "Where are you going this summer, my dear friend ?"

(A) He asked where, my dear friend, are you going this summer.
(8) He informed where are you this summer my dear friend.
(e) He told that where are you going this summer, my dear friend.
(0) Addressing him as 'my dear friend', he asked him where he was,going that

summer.

89. Which of the following is the correct form of Indirect Speech?
; f,;8 eV<>-,-',F" _ ..' " " _, "

I said to her, "Do you know that your mother has met with an accident in Green Park ?"
(A) I enquired do you know that my mother met with an accident in Green·Park.
(B) I said, "Do you know my brother has met an accident ?"
(C) I told her that whether she knows that my mother has met with an accident.
(D) I asked her if she knew that her mother had met with an accident in Green Park.

90. Which of the following is the correct form of the Indirect Speech?
-. ~'~~H}~/'':,:"", ".' '. .

He said to me, "When are you publishing your next novel ?"
(A) He requested me that when you are publishing your next novet.
(B) He advised me when are you publishing my next novel.
(e) He told me when you are publishing your next novel.
(D) He enquired of me when I was publishing my next novel.

" $
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9t.10~t4hn'1(0C4qA ~'50 lft'& ~'~ ~ '1fc1<lTftcfi~"«R1OS ~-.qm lfil ••~!·q
,~-,~tl·"q;y~~-~~~.qmf: "
(A) 200
'(B) 50
(e) 10
(D) 4
A couple-of' 10R';ft.m, is applied toa',fly'wheef of mass 10 kg and radius of 'gyration
5Q m. The angulattaccet&ratipn Ofithe wheel in radls is ,:

,(A) 200
(B) 50
(e) 10
(D) 4

92. ~ I(cM'I'11'"~ lfiT MQl•••200 ~~ f,pqr ~ ~ t I ~ cfi"~ cfi"<.1'44#:4(( ~ ~ ~
t~~.~cfi"~Ii~~'(~t'i'lWQ:,~.q)t:
(A) 25 x 10 '
(B) 75 x 10-1>
(el l2'5x 1~
(D) 12'5x 10-5 ,
Auniformdisc has ,mass of 200 gm and radius 5 em. The moment of inertia about an
axis passing thrOugh its,edQ$ and pe~lar to the plane of th& disc ,(intinits of
kg-m2)'js,:: _ ' - -, ,
(A) 25 x10..,s .
(B) 75 x 10-5
(e) 12'5x 1O~
(D) 12·5 >< 10-5

93~ ~1I(lfiJ l.*1H1I.'i~,~*Mql'1~~CIil\4R'~,tl ~~*~"«R 1~~t:
(A). ,3'3'~
(B)4'9~

.(C)9·8'~
(D) 19'6~ ,

, . The mass of 4~~d,itS d~t ••. arethree times those: Of. earth. ~n the "
,acoeIerat~!~i'Jq~ on the su~Of.~ planet is :
(A) .3-3 rn!fI- " ,
(B) 4·9 rrJ".. •

. (e) 9r8 rrils2
(q) 19~6mt".
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94. f\r-f ~ ~ ~ ~-q;re ~~ GTaRb"~ ~ ~"GlffiT t,ir~f\r-f ~ ~
~tl <irr~ $Iflil'E"!461~q;rlfR~"6R'ti'm~lPTT :

(A) ~~~t
(8) ~ ~ Cfj'qt

(C) ~~~t
(0) ~~Cfj'qt
Two wires of identicalcross-seetional area and di#ferentmaterials when subjected to
the same externalload,exhibit different strains. The· Young's modulus of elasticity
will have a larger value for the wire which has:
(A) longer length
(8) shorter length
(C) larger strain
(0) smaller strain

95. "CJFft ct ~'tR ~ 4 Wit ~ ct 'Q,Cn f{'dICflR~ en) m~'~i~lq:tltq, -are t :
. (trAT q;r ~ (fJlCf 75 ~~)

(A) 300~
(8) 300 7t~

(C) 6006Wf
(0) 600 7t ..~

The force required to raise a circular ring of radius 4.cmplaoed on the surface of water
is : (Surface tension of water 75dyne/cm)
(A) 300 dyne
(8) 300 7t dyne
(C) 600 dyne
(0) 600 7t dyne

96. ~ 'qJ5f -ij 1 : 5 ~ ~ -ij~I$:{t\i1Oi v:ci mF(1lt'i ?fiTi1:Jmrr. t ftn~~\ijOiv:ci· mft"llt'i O1t!Iaif ct\' amm
'E"!4IOiH'IUlt~ ~ CfiT~ m:
(A) 1: 5
(8) 5: 1
(C) 1: 1
(0) 1: 10
A vessel contains a miXture of hydrogen and heli~rni"the'mtfo1 :5. The l'atio of the
average translational kinetic energies of hydrogen andhelJum molecules will be :
(A) 1: 5
(8) 5: 1
(C) 1: 1
(0) 1: 10

G-21 GPNN-01.B/14-page-48 A-set



WI· ~fm~3~cm.1SH ~~~ •.~I\flRCfi~-ij ,qftAla'1-tOO~~tF~~Bll.q~
W lfil1ft: "tr, . ' .

(~) -too~
{!3,)1,00~
(C) -300~
(0) 300~
[)urfnganadb!tbatiC expansion of 3~lesOf agas, .the change in internal energy was
foundtc? bet equal to ~1OOJ. The WOrk dorlidttring the process is equal to :
tAl -100 Ji . P"

(8) 100J
(0) -300J
(D) 300J

98. .~ ~ ..1R. ~ f~f~(olm f~ ~ :
(A) ~~f~~~f
.(8) ~·~t~~~~f
(0) ~~.~~~~f
(D) Of~~~fOfm~~t
When heat radiation falls on a surface then it :
(A) gives energy and exerts pressure
(8) gives energy but does not exenpressure.
(e) does not give energy butexertsprelSWfO·
(D) neither gives energy nore,xEtI1&~~e

99. ~~'CR~Cfi'OT 10~~tl ~irU.q~~(f{qctl'~~~~:200$~
100 ~ t,~~ 'Cfi'OIT. et1' ~.q f.f)(110{1{ 1ltn :
(A) 0'2 n
(8) O'4n
(0) O'8n
(D) 0'5n
Two particles on a string are 10 em apart. If the frequency ana speed of a wave
propagating on string are 200 Hz and 100 m/sec. re$peotivety, then the phase
difference .of oscillation of ~hese parti~le.\is :
(A) 0'2n
(6) O'4n/
(e) O,'8~
(0), 0'51t

" ~. <



100. '\llif~ ~ ~erq;qftam: n ~1trr ~ ~.~ u~-«.amntr'6t~.q· &-:l\m qftqtf;t An1
mar t I '\llif <rn1. ~. ~erq;~ U ~ ~ ~ "IJm t, "ffi ~.q 31NRfi 4Rqd1 An

2
mt I (Jif :

(A) An1 = An2 = 0
(8) 6n1 = An2 *0
(C) An1 > An2
(0) An1 < An2
When a sound source of frequency n is apJlroaching a stationary observer with velocity
U, then the apparent change in frequency. An1andwhen the same source is receding
with velocity u from the stationary observer then the apparent change in frequency is
An2" Then: .
(A) An1 = An2 = 0
(8) An1 = An2 *0
(C) An1 > An2
(0) An1 < fln2

101.~.q~~.~~~t?
(A) ~f7If~~'1~*~~~~
(8) ~ l(cM'f'111f71f-s~'1~ 7$~ ~ ~ ~
(C) ~~~7$~.c;T~~
(0) ~ri
Which of the following pairs denote coherent sources ?
(A) Two pin holes in front of a broad sodium lamp
(8) Two pin holes in front of two identical sodium lamps
(C) Two pin holes in front of a laser beam
(0) All of these

102. ~ GlfuT ~ GATSlm~", ~ tmr t :
(A) 31NRfi, ~v:ci~'
(8) ~,~v:ci~
(C) ql«lfC4Cfi, ~ v:ci~
(0) ~1«tf~Cfi, om v:ci~
The image formed by a convex mirror is always:·,
(A) Virtual, erect and smaller
(8) Virtual, erect and bigger
(C) Real, erect and smaller

.~~) Real, inverted and bigger

A.••.Sef.



103·~~li~~~!_~·~.~:

(A) ~~ 'Cfft ~ 'Cfft ~ ~ ~ ~

(B) ~~~~ctr~l@~~~

(C) ~~~~ctr~l@~~~

(0) ~~~~.~·~~.~~~.~Cfill·~~

For having large magnifying power of a compound microscope:

(A) length of the microscope tube must be small

(B) focal lengths of objective lens and eye lens should be small

(C) focal lengths of objective lens and.eye lens should be large

(0) foeallength of eye lens should be smaller than theJqcallength of objective lens

104.··~·~ ~~.q f.fq';qt tp;IJ ~·~"~·(61 ~ '~h'ttf',f~ ~ t ?

(A) 1150 CfiTiltil44i{lt1

(8) f.mt:fi~

(C) !lCfiI~I(fi '~T;fl ctr~ ~. o;\lIf

(0) '5fCfim ~ t:tm ctrlUm

Which of the following is dependent on the intensity of incident radiation in a photo-

electric experiment?

(A) work function of the surface

(8) stopping potential

(C) maximumkenetic energy of photo electrons

(0) amount of photo electric current



J
(A) mv

J
(8) 21tmv

J
(C) 21tm

inJ
(0) 21tV

If J be the angular momentum ·of an electron in an Bohr ~rl:)it then, o~~1 f.~lu$ -is

equal to :

J
(A) mv

J
(8) 21tmv

J
(C) 21tm

(0) mJ
21tV

I
oj



106.~ S4MG'i~'t~cDtrIw:till(Tl".'f4••1RRfWJi T2fJiR1Rl'~ff!~'~ itft q~Tt,~·
(t~- 'l'~~·~'if~.~ ~a1f _~·.u!l"Rftt: . '
(.1\) R1T2 .;..F\T 1cJ

, ,

(a.) (R
1
.;.. R

2
}TcJ

(C) R1+Ra .'$
T

(D) R,+ R2~

FfadiO$M of a sample 8tff tii11$i$R, anc.Iat tlme T2 is f\. If half-life of sample is
,. f; . ',> .~', :. ,". _"\,,_., ',_., _ . _;

It the,,·in t;me(T2· .•.~,) number ofd~~ying atoms is 'proportional to :

(A) R1Ia ....RaT1
(8) (R,-~)T·

R1+R2,
(9) T

(0) R,+R~

107. p..~'*31~1(1"'1l~ 11ftf qrout :
(A) ~tui'if
(8.)' ~·.·~'.if

·(e) ~ -.·~'~~.if" . 't{l!f .' .

(D~'~~if
I}<:..,- •

.'

'.~PtyPQSem~tot~I' ,~()ve.~fn·:
~,':.. '-" •. " .. ,>' -' :. . ' -': . <

(~~ qol\lducti~n;baod

(8) \{Cllan~Qilrn:t

. te) bot~~nductioi,and valance band

(oiFQ~ciden r,gJon



-p

108.105 ~~ ¥i'Cfll~F'~ ctiT'Q;Cfi ~:~ ~\Wf,-ij'~~ ~ ~·'$t~tl
3 x 10-5~q1~~ ~Cf)lq ~t~.'c:60o~,:q.m1p;ff~tFrr:

(A) J3 ~
(8) J3 ~

2

3
(C) - ~2

(0) (J3-1) ~
A bar magnet of magnetic moment 105 JfT canrotat.,tr.lyjnl;lorizon.' plane. The
work required to rotate. the. magnet by an angleeO~ frp(lll a parallel magnetic field of
3 x 10-5Twill be : . ". .

(A) J3 J

(8)
J3J
2

(C) 3 J
2

(0) (~-1)·J

109. ~~ ~qft~ E=(2J+3iC) '~'5ffir~t, 'ffl3~ ~.ci.v-'l:~-«~
~ ~ ~ qj'f 1Wr SI lID(Cfi -ij ~ :
(A) 6

(8) 3m
(C) 9
(0) ~
The value of electric flux in 51 unit passing through V-Z planem'area 3m2, if intensity

of electric field is E=(21+ 3iC) Nly,wiII be :

(A) 6

(8) 3m
(C) 9
(0) zero



11Or~·.~+Q:~~'~~~~t~~"tR"~~,.~~tlS(Ujk'1q:).~
CIftTJftt Clftfcmr ~ ~;
(A) Sl{UjjtctCfi~ ~ cfi"cR;f ~ ~
(B) Sl{Ulltctq:)~ cf; ~ qR'tjUj 'tR

(C) Sl{UlltctCfi~ qft~ ~ qRQIUj~ "tR

(D) *"'jM.'~ ~.'HjtctCfi· amwiltfi' 'tIftt:Jm,"tR
A negative charge is placed at some point on the line joining the two +0 charges at
rest. The' direction of motion of negative charge will depend upon:
(A) position of negative charge. alone
(B) magnitude of negative charge alone
(C) Both on the posttlbnand magnitude of negative Charge
(D) magnitude of l1eottivectaarge as well as that of pOsitive charges

111.~.q~~.-um·t:
(A) ft:?R ~ ~
(8) ~ ~qft-mm
(C) ft?;R~~
(0) ~~
Which of the following is a vector quantity ?
(A) Electrostatic energy
(8) Intensity of electric field
(C) Electrostatic potential
(0) Electric current " .$

Ie
112.~~~lit1IR5jClft ..mtm,",'qplfqcf;~·5 ~Ft, ~~~~.cf;~ ~

9 ~F tl~cm q<I~'diCfi t:
(A) 0-55
(8) 1'8
(C) 1'1
(D) 3-6 ,
.The capacity of a parallel plate capaci.tor,with·.,ir as ~uR,l is .5~F,)'IhileWith some
oil as medium the capacity is 9 ~F. The dielectric constant of the oil is :
(A) 0-55
(8) 1'8
(C) 1·1
(D) 3'6

.
_...,:...;~.A.~:~'.\-'.'~."""'.:..' c.H.td·.. ., • i; £A .- ..& .. $I .J .e.1i ,J J, - .M4¥iCI " 2M .atUt 1_ Hu.;; U k C iI. - .; tJJ.; (. j I "',.iG"'21
.•.. ~,·QNH...o:tI~~
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113. ~~"flRCfIT~'~ ~,t, ~'~~&fq"atmij ~t, -m-~\1!1i~ijf:
(A) atqRqfdd-wrr
(B) licPTt
(C) ~
(0) 31f~~,;jd~
If the length of the potentiometerwire is.1ncreased, but the samecorrenHs anowed to
flow, its sensitivity will.:
(A) remain unchanged
(B) be increased
(C) be decreased
(0) be uncertain

. 114. ~ i~q;ltt Pd;r-ij*~am ~ Gffi atl'qq ~ qmn t,m f.rq -ij ~ cp:ff ~ omf ?
(A) 3lT<ffi fcHlqlq~ -ijt
(B) 3lT<ffi CfITl1fu ~ ~k4q;lttPd;r-t (1k4q~t
(C) 3lT<ffi Cfft l1fu ~ ~q;ltt Pd;r-t ~ t
(0) 3lT<ffi Cfft l1fu ~ ~Cf)ltt Pd;r-t ~ f
In a magnetic field, a charge does not experience any force, then wrnehoUhe following
is not possible?
(A) Charge is at rest
(B) "Motion of charge is perpendicular to a non-zero magnetic field
(C) Motion of charge ls parellel to a non-zero magnetic field
(0) Motion of charge is parellel to a zero magnetic field

Gffi :
(A) ik4q;ltt ~ Cfft ~ 'tR f.M ~
(B) cuo;s(Qfi cfi' ~ ~ f.M ~
(C) ~m
(0) 3FRI'm

A coil of copper wire is moved parallel to a uniform· magnetic field. The 8.m.f.induced
in the coil will:
(A) depend on the intensity of magnetic field
(8) depend on the velocity of the coil
(C) bezero
(0) be infinite



116. ,f.rq.q -« ~ ¥ll·CIft'~,''Q;$~·~ f ?
(A) ~ ~ ~ ~ AlfdiCfi
(8) ~ ~,~ Gf<.'1IE{oJi

(C) ~ ~ Gf(1I't'f

(0) ~~~
Out of the following t~ pnly pair that does not have id~9imensions is :
(A) angular momentum and Planck's constant " " ,
(8) moment of inertia and moment of a force
(C) work and torque
(0) impulse and momentum

117. T{Cn~f.ItRr~ P ~~~CfiT 4IM'M~tl ~~f~{I'ilq~1 iTfftfCfi\o{J'~

~t, a)~~ t~~~ e'ill4lffl ~:
(A) -Ii cfi'
(8) t312 cfi'
(C) tcfi'
(0) t2cfi'
,A machine mo.yesan~bjeQt by giving it a ~.n~tant po~.r P',lf the object begins its
motion from rest, then at any time t, its velQQityViOl be proportional to : '
(A) Ji
(8) t312
(C) t
(0) t2

118. T{Cncw;vr,ecft'elftlRl('R~mu~ 9 .~~~~u-«~~t, a)~?fiJ.~
1Flf ~~, f.f1:;r-ij i ~ Cf;'.A t :
(A) cw;vr~~~~~t
(8) cw;vrCfiT~ ~ mr t
(C) d'6qij'1 ~ 'R lfi1JJ lfft' ~ 'R~' t
(0) 3'6qd'1 ~ 'q{ ~ ~ t
A particle is thrown at afl,angle9from the horizontal on earth's surface with an initial
velocity u.Then mark the wrong statement assuming zero air resistance:
(A) Mechanical energy of the particle iSO()nServed,."
(8) Momentum of the particle is conserved,
(C) The kinetic energy of the particle is minimum at the highest point
(0) The momentut1l is minimum at the highest point



119. ~'t1;Cn~ 3ltRT~ 2 ~~~t,m~~~~-m;;mittl ~ctt
~~t: .
(A) .f2(.f2+1) ~
(8) .f2(.f2-1) ~~
(C) 2(.f2 +1) ~/eij)04&

(0) 2(.f2 -1) ~/e~06

A man increases his speedby 2m/s, then his kinetic energy is"doubled. The original
speed of the man is : "
(A) .f2( .f2 +1) mls

(8) .f2 (.f2 -1) rn/s

(C) 2(.f2 +1) rn/s
(0) 2(.[2 -1) m/s

120. m5(oqQI1 qft~~~if P-i(liilcH:tI1iftl ~f.f1m"-am F~'q'{~CfmlTt,-m~ APtifd
fei~jq1 if~ ~ ~ ~ ei1l1qltilm ; ""
(A) mttr .
(8) 1ttrm
(C) Jm.ttr

(D)rm ttr
An object of mass mis tnitially at rest. A constant force F acts on it. The'; the velocity
gained by the object in a fixed displacement is proportional 'to :
(A) m

(8) 1
m

(C) rm
",

1
(O) Tm
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121. tH$~;jj1~ (n= 1)ctt~~ (~J~~,O'530Atl ~.~ml' ~ (n=2)
cm-it Gti~ ctt f,riRrr A -ij cp;JJm- ? .
(A) 0·13
(B) 1·06
(C) 4·77
(0) 2·12
The Bohr radius for hydrogen atom' (rl = 1) is aboutd·S30 A. 'What will be the radius in
the first excited state orbit (n =2) in A ?
(A) 0·13
(8) 1·06
(C) 4·77
(O) 2·12

122.~~(~)~t:
(A) ;ffi~I04'1 ctcil<I~'
(B) ~
(C) fiR;eR ~"il$'
(D) :S1104'1U;S

Which has Frankel defect?
(A) Sodium Chloride
(B) Graphite
(C) Silver Bromide
(D) Diamond

123. ~~mqqpf'tR~f~~11Fft··if-at.rr~:~'1Jtf-~ (~m) ~ ?
(A) 0·1 m :mf,gI04"i "fIT~G
(B) 0·1 m ~ CRiJ(I$:S
(C) 0·1 m ;ffifGI04+1 CR1t<I~;S

(0) 0'1 m a~Cf))\51

The aqueous solution thaAlas' thefOWest~r pressure,at agiV~nttmP8ratiJre Is :
(A) 0·1·m Sodium phosphate
(B) 0-1 m Barium chloride
(C) 0-1 m Sodium chloride
(0) 0-1 m Glucose

, __~ ----__~--~L



125. ~,;ftl1llj'i q;r 'iij'(q'{uf~ ~ t ?
(A) ~~ICflI~C::

(8) ~fuil<I~C::

(C) qW1f{'1I~C::

(0) ~
Which is an important ore of magnesium?
(A) Malachite
(8) Cassiterite
(C) Carnallite
(0) Galena

124. ~ m~ ~ 'qw.f qmft., 'flt q<ff 1ttnt ?
(A) 502 «tA Wft t
(8) m~~mort
(C) mGAOTt
(0) 1j~ (t1~q;) ~ (H2504) ~ ~ t ,.
When a lead storage battery is discharged:
(A) 502 is evolved
(8) Lead sulphate is consumed
(C) Lead is formed
(0) 5ulphuric acid (H2S04) is consumed

126. '51~q~~~ (~:~.~.).~-« fibeqil q~=CW1~q)-~~~\5fmTt ?
(A) Ni2+
(8) Zn2+
(C) C02+
(0) Fe2+

DimethytGlyoxime(DMG) is used for identlficatlon of :
(A) Ni2+
(8)' Zn2+
(C) Co2+
(0) Fe2+



,

127. [Pt(NH3)2CI2)" \Wf1fl:tcftq31'~«tq4 (~""'q) cfit;~~ t ?
(A) 2
(8) 3
(C) 4
(D) 5
What is the number of geometrica~1sOtnersof {Pt(NH3>2CI21?
(A) 2
(8) 3
(C) 4
(D) 5

128. Mabcd Cf)Y~.'$ ~ iftfll'ilrihf 31'~~ij4 (~ijICfifq) ctft ~ .fcfia-ft t ?
(A) 1
(8) 2
(C) 3
(D) 4
What is the number of geometrical i$omers of a complex,. Mabcd ?

J' ...:" i....·~·,\ '; A;

(A) 1
(8) 2
(C) 3
(D) 4

129. &1~cD'hY@(~"aJf,('1,jlfiYW»<ij~'.ffficR.&1_'9)~?lam,'5~J. ~.
, -,.,;) ..... '.'-,' .. -\-' I,

(A) 0
(8) 2
(C) 1
(D) 3

Thenumberot hydrogf!l~.Citom~·,~Men~~~9;Fl~~ph9RJ~Jn;~~~phospb<;>I\l~·acidis :
,- ," "" .,', - ',- ": ,,-; "0 - ....•. ,. " ,', .. ,

(A) 0
(8) 2
(e) 1
(D) 3

,
I •,\



130. H2S03(I), H3P03(II) afR HGI03 (III) IId ~~ ~~lSh+fiq; ~ t ?
(A) I > III > II
(B) I > II > III
(C) III > I > II
(0) II > III > I
What is the correct order of decreasing acidity. among H2S03(I), HsPOs(II) and
HCIOs(III) ?'
(A) I > III > II
(B) I > II > III
(C) III > I > II
(0) II > III> I

. .
131. ~ ~-~ ~ ~ !31T ~ 31lSfi+fiCfi cp;rr t .?

(A) BF3 > BCI3 > BBrs > BI3
(B) BI3> BBr3 > BCI3 > BF3
(C) BF3> BI3 > BCI3 > BBr3
(0) BF3> sci, > BIg> BBrg
What is the decreasing order of Lewis-acidity of these?
(A) BFg > BC'g > BBrg > BIg
(B) BIg> BBrg > BClg > BFg
(C) BFg > BIg> BClg > BBrg
(0) BFg > BGlg > BIg> BBrg

132. ~:~*.iQ11~'5 ~-mfcf;<u~t?
(A) ~~1+f

(B) '11~r{1<i4

(G) ~
(0) (OftR<i'i

Which lanthanide is most commonly used?
(A) Lanthanum
(B) Nobelium
(G) Thorium
(0) Oerium

G-21·GPNN-01B/14 .•••page-68 A-Set
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133. c:g'EH<ttUW, fmi'- ~ -q cp;rr aqr~6 tm't ?
(A) NH3, el
(B) NH3, H20
(e) o, H20
(D) NO, el
What are present in anti-cancer drug, cis-platin ?
(A) NH3, el
(B) NH3, H20
(e) el, H20
(D) NO,c

\
134. fCfHiqo;l il<.1"1iqo;m ~t?

(A) d<t4\1ft"l
(B) O--sI~<t4;sf\"1
(e) nH~I~CRiJ<t4\1ft"l
(D) p--sI~cffiI<t4""1
Which has the highest melling point?
(A) ehlorobenzene
(B) o-dichlorobenzene
(C) m-dichlorobenzene
(D) p-dichlorobenzen~

135. SII"fdqo; ''{iR cp:n t ?
(A) ~ ~- ct1ft131I~4tsft1
(B) CRiJ<tsft"l
(e) 1fIT-~

(D) ~ftm-~
Natural rubber is :
(A) All trans-polyisoprene
(B) Chloroprene
(C) Buna-S
(0) All cis-polyisoprene

j .. G8t...'. -~_.1



136. ~ ~ CfiFmr6t4'1q;Y4~ ~ ~ t ?
(A) Q:fI"I€J1
(8) 2-CR11<lSnQ1

(C) ~
(0) ~~1Y{'1
Which does not show haloform reaction.?
(A) Acetone
(8) z-chtoropropane
(C) Ethanol
(0) Methanol

137. :<.tc61Gl Q:'Eflf(!qo!Q\'1~i~~i~\S(CHaCO)20 cfi" w;r cp:n~ t ?
(A) tll"11Q:'Eftaa

(8) ~-~
(C) ilaT-~

(0) ~-~
Glucose reacts with acetic anhydride (CH3CO)20to give :
(A) Monoacetate
(8) Tetra-ace~ate
(C) Panta-acetate
(0) Hexa-acetate

138. ~ ~ ~ CR11fN:(i1 em 'tR ~ 'f(q:j' ati~«t"l( ~ t ?
(A) CR11(J~;sfl1·

(8) atmft-~
(C) 'Aatr-~
(0) ~~~.~
Which gives only one isomer on·chlorination·?
(A) Chlorobenzene
(8) Isopentane
(C) Neo-pentane
(0) None of these

,"""'.-',.',
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~139. ~~.~ ,~T'1-~ ($~ct?lNie) t:

(A) H20
,(8) NHa
(C) C21-:fSOH
(O) 50a
Which is an electrophile ?
(A) H20
(8) NHa
(C) C2HsOH
(0) 503

140. n-~ qftm~ ~ q)~l(~1i11 (~) cp;nt ?
(A) ~ •.
(8) Qji.m~;a(war)
(C) 11M

(0) Wti-~
The most stable conformation of n-butane is :
(A) 5kew'boat
(8) Eclipsed
(C) Gauche
(0) Staggered-antt

141. f't11 ~ ~ RCOOH em RCH20H.q Qi{C4fffit ~ ~ ~ 'S1!ft11Rtr t ?
(A) LiAIH4
(8) ZnlHg-HCI
(C) Na/Alcohol
(0) ~~~~
What is used to convert RCOOH -+- RCH20H·?
(A) LiAIH4
(8) ZnlHg-HCI
(C) Na/Alcohol
(0) None of these



+

142. Q:milf1:t;;ft1 .3fR ~4l~f(.W':gtil~:g.q~ ~ ar-:m: ~ ~ \ill ~ ~ ?
(A) NaHS03
(8) C6HSNHNH2
(C) NH20H
(O) NaOH-I2
Which is used to distinguish acetophenone and acetaldehyde?

(A) NaHS03
(8) C6HSNHNH2
(C) NH20H

(0) NaOH-I2

143. ~;Jfl~q)~ qft ~ ~.q 4RqRfd em cfi" ~ ~ ~ 'C'fWtl ~ ?
(A) C2HsCI ~
(B) C2HsOH ~
(C) ~ HCI-C2HsOH ~

(0) NaOC2Hs ~
Benzoic acid may be converted into ethyl benzoate by reaction with:

(A) C2HsCI
(8) C2HsOH
(C) Ory HCI-C2HsOH

(0) NaOC2Hs

144. ~-66 ~ Gf1'ffi ~ ?
(A) ~;Jfl~Cf)~

(B) SF6
(C) qf6f'i~ ~
(0) ~ ~ ~;:rtf
Nylon-66 is made from:
(A) Benzoic acid

(B) SF6
(C) Adipic acid

(0). Nooe 91 ttlese .
~"~i
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145. Kp am Kc -ij~~t ?
(A) Kc = Kp (RT)An
(8) Kc = Kp (RT)-An
(C) Kp = Kc (RT)-An
(0) ~~~.m
What is the relationship between Kp and Kc ?
(A) Kc = Kp (RT)An
(8) Kc = Kp (RT)-An
(C) Kp = Kc (RT)-An
(0) None of these

I

148. ~-itlla~Q\ f{f",jOij cfi' ~ ~ ~ em ~ ~ (jijI4Mq; ~ -ijo;tiqf CIit"{f.;.,l9R ~~, ,0)
l{fCfiT q(hu"l cp;nm ?
(A) -am CIit lW5IT~ ~
(8) ~ CIit lW5IT~ lPft
(C) arq'qR.

(0) arq'qRfiR' ~

As per the Le Chatelier Pinciple, adding heat to ~ splid .~ liquid equilibrium, will
.~ ., - . . ,

cause:
(A) Amount of solid will decrease
(8) Amount of liquid will decrease
(C) Temperature will rise
(0) Temperature will fall

147.~ll~.,'g~~ ..~1Fit ?
(A) ~H>O,~S>O

(8) ~H<O,~S>O

(C) AH> 0, ~S< 0
(0) ~H< 0, ~S < 0
In whtbhproCesS;the :pr068ssls always[10~ibI';'?
(A) ~H>O,~S>O

(8) ~H<O,~S>O

(C) ~H> 0, ~S< 0
(0) ~H<O,~S<O



148. \5fGf fcfim ~ ~.q SlmfSfl<ii Cfft ~ t,m :
(A) qp <a,
(B) qp> qv
(C) qp= qv
(O) q =0p
When a reaction is carried out in a closed vessel:
(A) qp< qv
(B) qp> qv
{C} qp= qv
(D) q =0p

\

I
Ir

148. P4010 .q~ ~ ~ ~ (e) fcI;(R-ma f ?
(A) 6
(B) 7
(C) 17
(D) 16
Number of sigl"la bonds in P4010 is :
(A) ~
(B) 7
(C) 17
(D) 16

\

150. ~ ~ fcM1~' tt-~ ~Cj~~ «(1i·i~e4)A ~ ~ lPff··~····~ ~ II\Cfie'1l'1 it?
(A) CO2
(B) ~~~y.,
(C) NH3
(D) itiR
Which of these has largest· de-Broglie wavelength,(A.),.provici.ed all, flave equal
velocity ?
(A) CO2
(B) Electron
(C) NH3
(O) Proton --

G-21
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESnONS

(please use Black ball-point Pen)

1. Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMRAnswer Sheet
against that question.

2. Valuation Procedure :

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded.

3. .Cancellation or Change in Answer:

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EX,AMINA'flON.

5.~ar:e ;"'Ihra~g Ah:e •••• .".;er.~t :
..,,-." ""~

While usjpg answer.~~ adeqyate.9afe should
be taken not to tear or spoil due to folds or
wrinkles and the impression does not come
behind the Answer sheet.
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